do / dAnF [mb]

10

Ratio to ATLAS

0.5

Soft QCD

7000 GeV pp

----- ¢ Sherpa 2.2.9 default

Rapidity gap size(pT > 0.4, h| < 4.9)

= "‘0...‘.‘
— 0~.‘
— 9.
L 5
- 0.,‘
= = ATLAS ey
— --&-- Herwig 7.2.1 default *
— —&— Pythia 8.170 default

| | ||||||| | | |||||||
Rivet 3.1.10, = 200k events

>

-

| | ||||m
mcplots.cern.ch [arXiv:1306.3436]

/’/ o 4 EDE 3 HEUEEH =
’u..._‘ E[Z]= P Bisisi a
— .:' "ﬁ"‘ p—
| ., _
— ¢ “ -
.
— "“ —
*
| 1 1 1 | 1 . 1 | 1 1 1 1 1 1 |
0 2 4 6 8

N

0.5



	Contents
	Page 1


